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.PARAM Fline=50
.PARAM Vgrms=120

.PARAM Vgpeak={Vgrms*sqrt(2)}
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PARAM w={2*pi*Fline}
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For the dc operating point, | believe only
some averaged models need to be
active at a time considering the input
line polarities at the selected time.t
Here, | selected 15 ms implying:

tp = 15ms

vyltyg) = -169.706v  NEJY
POS
POS

theta = atan2|v | t;g). vl tipl} = -1.571

Tbl.t].[':l = #8533V
Tlll.tlﬂ:l = B4 833V

This selection implies that positive diodes
on line b and c are turned on. The diode ol
the negative line a is active. Some of the
models are turned off, easing the burden
on the simulation engine.

The operating point seems correct and
matches the transient simulation. Using
three averaged models (or 6 in the
transient simulation), makes the simulation
sensitive to any parameter change: always
check the dc point is ok.



This is the cycley-cycle simulation. The output
B 7R voltage is 800 V, P = 10 kW
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d@ O This is the way the duty ratio is elaborated to forc
sinusoidal input currents to the Vienna converter.

80%  The modulation depth is adjusted depending on
operating conditions.
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